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L 4 143,344 128,413 - 2,734 143,344 131,147
HERA (120,834) (67,192) - - (120,834) (67,192)
E7 22,510 61,221 = 2,734 22,510 63,955
hEEE = (2,192) = - - (2,192)
REERE (3,277) (36,696) - ) (3,277) (36,700)
BEFHEMEE G = (611) = - = 611)
REMEEHRS/ (B4) 10 1,700 (6,470) - - 1,700 (6,470)
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EEBEE 12 5,100 61,216 - - 5,100 61,216
RIEEBTEEMEL
EERAEERR 13 (209) (11,488) = - (209) (11,488)
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WEEE = (1,425) = - = (1,425)
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REBEER 17 2,500 (3,010) = - 2,500 (3,010)
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REZER = (797) = - = (797)
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BREZ W=/ (B#E) 2,557 (39,289) - - 2,557 (39,289)
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MEME - BERR = (2,824) = - - (2,824)
HEREME R/ (B8E) 59,270 (78,089) - - 59,270 (78,089)
Hig g A 511 5,045 = 459 511 5,504
HERX (28,734) (65,648) = (1,372) (28,734) (67,020)
mEER,/ (B8) 5 61,866 (119,450) = 1,817 61,866 (117,633)
BERA 7 (37,323) (65,762) = - (37,323) (65,762)
24,543 (185,212) - 1,817 24,543 (183,395)
B & DR FIBERE = (6,070) — - — (6,070)
BB AR (BE) 24,543 (191,282) 1,817 24,543 (189,465)
BB 8 — (27,708) - - (27,708)
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wAl/ (BE) 24,543 (218,985) - 1,817 24,543 (217,168)
LERRER - (1,425) = - - (1,425)
KEEREF/ (BB)FE 24,543 (220,410) = 1,817 24,543 (218,593)
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